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Write algebraic expressions for verbal expressions

n— 35 35 ais 5y, as sae .20 7+ x7 40 51X .19

1—3n sae Gl .22 50 sac b by oo 5 saall 21

4—5rr945m@u.24 %10&:&@]“.23
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Write algebraic expressions for verbal expressions

t=Tlgr=39g=2Cil5 15 peeti JS ded dor gl
30. g + 6t 68 31. 7 — gr 1 32. P+ (P2 —8° 9
@ar+3+4a7 34, 2 + 8t + 1% 394 35. 3g(g + N2 — 1149
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Use the Distributive Property to simplify expressions

s Sl (U3 i 130 .6 yeue dauul ) et JS Jior

29. 13r + 5r 18r 30. 3x3 — 2x? Jauid 3. 7m+ 7 —5m 2m +7
32. 522 + 3z + 822 33. (2 — 4n)17 34 — 68n 34. 11l4d + 6) 44d + 66
32. 1322 + 3z
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Translate sentences into equations
Aslae ) 85k JS Jio
15—=3r=6 0 sl 15 4a3b 1 ;3 &g,in0 &35 .1

g+4t=29 .29 golaw T 2 &g ,na dasylg G Eoema .2
N2+12=p+4 4,picsd @b Jsle 12 815 e ”J—Lf-@
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Solve equations in the domain of real numbers by using multiplication and division

c—22=54 U3

c—22 = 54 PRPRPTRI c—22 =54
+22=+22 B JS 22 cad] c—22+22=54+22
c = 76 s c=176

¥ Asladl (5 € Joe 76 JG o) 58 76 5 (e Gasall

- - -

c—22=>54 ‘ g
76 — 22 Z 54 ‘ulol dslre
54 = 544 € =76 uoes
g b
90 (1o 4
1A. 113 =¢— 25 138 B.;—87=-3 84 )
2 Jla
63+ m=179 J>
i)
Otm= 7 kLo Wslae 63+m= 79
—63 =—63 Cds JS (e 63 o —63 = —63
m= 16 .
alo¥) dsladd) (216 Joe M J3 o) 58 16 o oo Gasil)
adol slee
61 = m (s (0 yo9s
63 +m =79 Jady

63416279 R
2A. 27 + k=30 3 2B. —12=p+ 16 —28 j 5
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2 _1
39~ 73
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3
9=7%
b. 39 = —3r
39 = —3r
39 _ =8r
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3A. k=6 10
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Solve equations involving more than one operation in the domain of real numbers

(1-6)

93

Solve each equation. Check your solution.

@3m +4=-11 —5

4. %a—8=11

2
123

2.12=-7f—9 —3

x—5
7

5. 8 = 61

0% o i) s | gyl Junb

_ A
3.—3—2+11 55

6.

c+1
-3

= —21 62



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://iwtsp.com/971502509447
https://t.me/mathbook9GEN
https://t.me/mathbook9GEN

P (=] [m]
o dalul ibnas [ (ujiall Jue https://t.me/mathbookdGEN % https://t.me/alllaaam82
050-2509447 B pia s ale 9 cilaaly , 3L AR sl et o sl

dallanll dexdll yulad dasd olom)
7 (13 - 18) 106

Evaluate absolute value expressions
Evaluate each expressionifa =—2,b=-3,c¢=2,x=21,y =3, andz = —4.2.

@ 12c+z21+2y 6 14. 4a—|3b+2c| =13 15. —|5a+c|+ |3y + 22| =74

16. —a + |2x —al 8.2 17. |y —2z| -3 8.4 18. 313b — 8c| —3 72
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o) g3 13) e G o5 LB ) 038 ks Ale JS 15
Solve each proportion. If necessary, round to the nearest hundredth.

t_ 6 4_13
16. 5 = 1 7. 5= 7 29.25

Solve proportions

315
15. 5 = 40

15 g 7 _m 8 v
18. 35 =% 3 Y. 5=7 9.8 20. 13 =57 12.92
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Find the percent of change

Mi.&:-gi'p mﬁwuwm‘.lmﬁuuwmu‘umwm&uISIaIL.,s.aI
adolS Do ded 8 I 038 . pedil 4 gl

411 La¥) sasll .2 782 1 La¥) susll
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10 (1-4) 128

Solve equations for given variables

dongd! piied) Slow¥ Ao o Walae S U vyl

@50+ c=—8ad> sy a 0= —= 2. 7Th+f=2h+gd>sl=y gBh+f=g
k + q
3. _7m:n J> ¥k k==Tn—m 4. q=p(r+s) J> s¥ PP=T71,
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Identify linear equations, intercepts, and zeros
das s Y8 P! Jldell y gl J1 jamally X GaBY) Hammed) go ale i) syl
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Estimate solutions to an equation by graphing

0Se 1Y ¥ sae 15 Y =160 — X Wl bl ) dems Blu) gbae Jop Guad] lul o] 22
\J,}lxub_\_c LlS ass dlo J Lsgass ul
|_\_-ua_._.a_._|| d_”_._u)_” ol eaS) <160 adga) 1ia 3lew b ain Lo gings ol asgl
B,o- 160 Al aS
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Solve problems involving direct variation

Loly Lelig ) pingly ddal o g3 do ,uiS Walae caS) 38-40 wly o)
W=9.8m m pusl) aliS Lo lg,me 98M/s 2 glo Lo paax W 039 slijeadl pole .38
T=099d .T ga actb¥) d aalSs JJls) aciell AED 099 s asb¥) L3 on .\,,..‘J‘;l&“il

38. 18 M4 40. C
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Write an equation for a nonproportional relationship

AONe S W5 e dyge S Walae S

(5) Yy 4T ) fy=2x 6. [ | || .32”.f T fix)=12
. . 28
/ S
16

7 y/ T} f0=3x—2 g [T [ [P 1] fx)=gx+2
— g
/ f’/’“’
- o|/ X (o] x
/
| 4
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Write and graph linear equations in slope-intercept form

yu...ulJJl 199wed) 2o ablally ol ‘al..\:u.wb aadgdlg Jood! ddvan Lo p...u..u.e.! adalay S|
Lole Dalay d,... fp STE RN

10 1y sl 1 el e alolaall 3 s el .18 8y ol N ssomal) e ealszll 5 - L (@)
8 ) yemadl po abolaill =2 : )l .20 6 Y i) el o abolaill =4 ) .19
=6 Y ) J) yamed) g pdolal) 4 o)) .22 4=y sl ) semad) go abalad) 3 ) .21
17. y=5x + 8 18. y=23x+10 2 y=3x—4
|
8 Y 12fVAP by ‘
2 1 /
= = 4
—86-4-70| 2 46 8x » - / -
/ (0] X
}4 —8-6-4-20| 2 4 6 8X
I ., /
Yy Yl
19. y = —4x+ 6 20. y= —2x+ 8 2. y=ax—6
y y
yuv
6 6 sl 1]
4 4
o\ 2 o1
\ . 2
_86-4-20| P 4 6 8X —86-4-20] 2 A6 8X «
| | —8—6—-4-20[ 2 4 6 8X
—4N\ —4 |
611\ ; 4
_8 -8 -
REA | TEA
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Write an equation of a line in slope-intercept form given two points

Aol o 795 IS b s @) pediluel) Dalag IS
16. (9, -2). (4,3) y=—X+7 47 (-2,5). (5. -2) y=—x+3 18. (-5,3). (0, -7) y=—-2¢-7

19. (3,5). (2, -2) y = 7x =16 20. (-1, -3). (-2, 3) y=—6x—9 21. (-2, -4). (2, 4) y = 2x
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17 (11-15) 236
Write equations of lines in point-slope form
‘_j.-.o;u Ddougd! Juegd ! lebm&:wﬁulwwlg dadl) dduay ddilag US)
Lalo Walayd!
1" (53).m=7 12. (2, —1), m = =3
13. (=6, —3), m = —1 14. (=7,6), m=0 . y—3=7x—5)
12 y+1=—3x— 2
5. (—2, 1), m= % 16. (—6, —8). m=—2 2
. ‘ B. y+3=—1x+6)
(=2, — = —— . (— 29) g.at
17. (=2, —9). m 3 18. (—6, 0), abl puaiuws 4 y— 6=
5. y— 1= %(x-l—Z)
6. y+ 8= —%(x-l—é)
V4
17. y+9 = —5(x+ 2)
18. y =
15. . 1. 12.
T P y N
1"’
A —8-6-4-20] 2 4 6 8X
8 1y |
6 —6 ] \
/s N8 o / X o X
// 2 Ew‘\ I \
—14 ' |-8-6—4-20] 2 x ji L
AEEEEEEN | N ] L
7o [ LT Tl 1] 18. y
e ERT Y] ! BN A ] y
A -4 2 —14 [10 W6 | 20| 2% < >
—6 1 \\\ _‘4
Y 520l 123 2% \§§
_13 = EN
- N -3 124N
~16 \\\ s B Y - .
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Write an equation of the line that passes through a given point, parallel to a given line

Jied) a0 531909 dd0med) Aadidl o ) oSl adaddly food) ddcay dslae oS
) Bauomg) Walagd fies o) L)
13.(0,2), y=—5x+ 8

B—

Suoo eudilune] Ligag Badxa dladiy oo (ana doles LS
18 "

"N (3,—2),y=x+4 12. (4,—-3),y=3x—5

14.(—4,2), y = —lzx +6 15.(23),y= _%x + 4

MNy=x—5
12. y=3x— 15
13. y= —5x + 2

14.y=—1?x
_ 3 1
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Solve and graph absolute value inequalities (<)

Hae¥) das e Gily Jolo) degaane Jio ol .ol Lea Lule IS 3

1. x—-3>7 2.5=27+y
3.9+6<2 4. N<p+4
5.10 > n — 1 6. k+ 24 > -5
1. {x| x> 10}
O ————————
8 9 10111213141516 17 1819
2. {yly=<-2}
ey | | | | | |
| | | | | | |
~5-4-3-2-1 0 1 2 3 4 5
3. {glg< -4}
~ i p———————
~9-8-7-6-5-4-3-2-1 0 1
4. {plp=7}
e ——————--
56 7 8 9 101112 13 14 15
5 {nln< 11}
~ i ———————
7 8 910 11 12 13 14 15 16 17
6. {kl k> -29}
T ——

33-32-31-30-29-28-27
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20 (10-12) 282

Solve compound inequalities containing the word and, and graph their solutions

Lo Joud) dc goone Jio @ (ol Lo &S o Zaliie US S5

t

10. 5<3p+7<22
N -3<7c+4<18

12. 5h—4 =6 s 7Th +11 <32

10. {pl—-4 < p <5}

—4 -2 0 ) 4
fcl-1<c< 2}
———————)————
4 2 0 2 4
12. {hl12 < h< 3}

————
0 1 2 3 4 5
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